lllllllllllllllllIIIIIIIIIIIIIII!!IIMHIII

g -l

He—nv P A80mssas28 1) e — i 580 mssaess i

(PHECRA—=N—F3F4) (X9 v—F/PEY)
B 380 cssaa1s ) aunF — v 580mmsr638m)

14 A% - Bt Bt

ﬁ/\/f ﬂ’:—}l/ 530H(%&583F‘]) ﬁ‘}“‘ﬁkﬁ 580H(ﬁ52§638|]3>

CHRERD

V/;/\j;;__ v D80mss2638 1) DRI 580 mssress i)
T ERTINY )

A=A K= 580 chacss i WEN 58 0 s 638 )
(3o v EHEAD

A 580 msss63sm)

(ZBER)

YI7=-hD51n

£@}‘/4~y-7 Fa—»4 4301519511
VE —

g—ay» 4 A30mss2195 1)
AT WL y

7 —

P _
i 72 e 4.9 O casassom)
i A FREX L BT —
ANERY T — « N4 4 8 O pr 528 1)
MW (mv 2 9v—)
TRT 4 — A

#4501 Buaa9s 1)

J Yy )L —l

2 Vv PnE—nA30mmsrarsry 2 VP VHE A3 0mssaa73m)



ﬂ

71>

Y4 v 14 2,20 0mms8 21201
7 A 14 2,200 mssa2e20m)

A\

YN RN=DI T

Xy T H 14 10,00 052 11.000 11
AT = FNY 14 5,000mms25500 )
Y — YR 14 a s k

BB

REE (18 580mmmresry MR (1 HA) 580 mmsaessm
#2M (18 5S580mmsasssm

~ B ili~

KREFE AA) 880mmurossrn  AHEIL (1 A) 98 Omssarorsim

3 v bk

7%—7 1800 (14 ) 1,500 8521650 1)
a2hve (1) 1,50 0mss21.650 1)




ﬂ

F ML

T DR BB 720ml 14 2,500 mssa 2750 1)

BB 1 THiK 5,000 525500 1)
7% K 1 THk 5,500 1526050 1)

ZBR  vwedsZ 2om 1A 2,500 m 582750
“gekpdys 720ml 1R 3,300 m 8523630 1)

B JINROFIA4 720m 1A 2,800 18523080 1)

¥vi¥  eooml 1A 2,200 mm1 2420 11
F % AWV 360ml 1A 700 mss2770 1)

il 700ml 1A 2 500 csss 2750 1)

BEEW  ~v 29 1000m 1A 2,500 mms82750 m)

AMoBo - HOF

SR INT H—2— 200mps22200) I 200 B2 220 1)
WRE AA) 200mgsa220r) F#H7 4 — 450mms2195 )
y—uvE 350mmuazssiy By b ve V20008220
BN A50mssatos iy HETFL Af) 60 mssacs i

K 100 m 2110




ﬂ

JIIMSY LY

v —n v 280mssasos ) P45 4 — 35 0mcsuasss
A% 280F3(%3.308F3) ANWEARY 22— A 350H<ﬁ%385m>
FVvvIVa—2A 350mmasssin a—3 3501852385 M)
Aavy—%  350mmsrsssm vy e—z—n 350 mossasss i
GELD)

2—k— 400 Bsa 140 1D

(P4 A2o0or&v b)

aay 400 psA 110 1)

(P4 2o0or& v b)




